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Did they feed you from the fat tail — 9% 120p M TIINRY

OVERVIEW
2"2"7 planned to entrap the 81X who ate from the 1od 1272, by encouraging him
to ask that he be fed from the 7°9% which is (usually) maran 3"y 27p1. There are
certain 0°m0d whose 12X is not 1AM A"y 291 and Moo will explain how 2"27
surmounted that difficulty. Mmoo also discusses why 2"2°7 was not 237 721 (to be
291 his 1109 1277).
*

Mmoo anticipates a difficulty and resolves it:

=9 )N RNPY N NHL NN DHND A9 1112"1‘,7 INPHN PN MY ) HY N
Even though the 75% of a kid goat is not offered on the nam;” nevertheless the

majority of their 2’1192 was sheep. Or perhaps the 7Xn7X told >"- that he would be
bringing a 7v.’

MooIn addresses the issue of 73719 7775y:
— 9349 NYY XYY NINA )2 NN 229)

And why is it that 2''297 himself was not ®37% 779 to be 27p» the ros 127p7!

Mo0IN answers:
—*ymm 19 NN XYY Y W)

One can say that he owned no land, and is therefore not 27 in 237 7>%y-
— 19897 119 ‘NI M7 *19939a 7915 5199 1IRY N3P 1P IN

Or he was (so) old that he was not able to walk on his feet in which case he is

exempt from bringing the nop as he is exempt from the Mxn of 7R9 (appearing
before 71 in the P"»7°2 on the 2°731 '3).

"t is only the "X of sheep that it 271 on the mam (see -1 ,3 X)), however the 72X of a goat is not 27p3 on the
nam and it may be eaten.

* It is possible that the group that the ax»x will join will be 2771 a >7a for the oo, When the axnx will ask for the
2R it will be a valid request and will arouse no curiosity (and s'2"2" plan will not succeed).

? This second answer addresses (perhaps) the case where the 77%»1X brought his own 1109 121p; while the first answer
deals with the case where the 7X»nX joined in an existing 77121. See, however, the 1910 onn who interprets Rnw X
17 7°37 to mean that 2"2°7 told the nX»IX to participate in a oo j27p of a 17ov.

* See the X3 later on 2,1 where *»X " derives from a p109 that %31% 72 1R ¥pp 12 PRW *n. See ‘Thinking it over’ #
2.

> The first 73wn in 7337 states 179372 MYYY 2197 WRY "1 191 I 7°K12 17270 997

% mooin (seemingly) assumes that the 715 from X7 is also a Mo from 105 127p. See ‘Thinking it over’ # 1.
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mooin offers another answer why 2"2°7 was not 237% 77W:
— AN NYI93 39903 N9IMNTI NI YIRY 1IN 19298 9133 ON

Or you may also answer that the city of 1°2°%1 where 2"2°7 lived was outside Y98

5w, as is evident in 90 in JIRY N1, Since he lived in 5™, he is 7Mwo from a 2P

non.8

moon offers an additional source that 1°2°¥1 was in 2" m:
— 9PV NINA 13999 TAN) TINY 0,0 ;uxaa) MIDVIN DNINI NI

And furthermore the *»®wy7° 23390 on the 7100 of 173921 7oXY 7981 in the land of

e -
29001 12283 TN DI

translates the names of these three cities as 201 1929811 ©7. It is evident that 7°2°x3
is in 1w which is 5"n.

SUMMARY
Most o’nos were brought from a 790 (where 232 72°7p 10°9X). 2"2°7 was not 721w
5377 either because he had no ¥p7p, was unable to walk, or lived in 2"1.

THINKING IT OVER

1. It seems from N»dOIN that one who has no ¥ or cannot walk is M5 from a 327p
noo (just as he is X1 M¥nn MWD), and that he who lives in 2" is MWD from 7°X7
(and no® ]3‘1p).9 The commentaries question the comparison of 105 j27pn WD to
the R M¥nA MWD (in regards to T2 2127 PRI ¥pIp 17 1PR), and also concerning the
source that one who lives in 9"\ is X1 noon Mo, '

2. How is it that 2"21 had no ¥p7p? Seemingly *"X was divided amongst all the
>"13, how is it that 22" had no ypp?!"!

" The *790 on the (13,2° 0™27) N™>° *3 P10 relates that some D°XIN were traveling to 22" (to learn by him) when the
realized they are leaving "X they changes their minds and returned, w">y.

¥ See “Thinking it over’ # 1.

? See footnotes #’s 6 & 8.

12 See 25 mx 2"m and 121 o71ax No72.

' See 17798 97 (brought in 7272 X»).
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